Directions (1-25) : Watshould come in place
of question mark (2) n the following questions?
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. What should come in place of question mark (?)
in the following question

5811+ 30919
(29990 (b) 8650
(©)5430 () 7560
(©679
. When 49" is added to squarc of a number result
s 9125 Find the number.
(@ 6724 (©)95
(©) 4624 @82
(¢) None of these

. Find simple interest on a sum of T 9850 at the
rate of 7 pc. pain 6 years.

(@346 (b) 24538
(©74137 (@ T3447
(&) None of these:

. There are 2240 employees in an organisation of
which 35% got transferred. How many
employees are transferred?

@ 784 (b) 1008

. Outofthe fractions >

(©) 89 (@672
(¢) None of these.

. Find the average of the following set ofscores.
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e g How much
distance will the ractor caver in § hours
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(&) None of these:
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© 160
(@) cannot be determined

(¢) None of these.

What will be the result, if square of 22 i
subtracted from cube of 122

() 1344
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Marks of a group of students ar 48, 59, 87, 37
78 and 57 respectively. Find average marks o
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Directions (36-40) : I each of these questions
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question mark, you have o decide which of e
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Jollowing smbols Wil come i place of she 45 Monthly income of Bipin i three-fourts o
questions mart monthly income of Bhushan, Annual income of

Give answer i in place of quest Bhushan is 6,28,800. Find annual income of

mak (7 ollowing wil com ipin.
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41, Parvin purchased 25 kg rice at the rae of €45 i
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A
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Wele © 1416 48, Satish secures 54 marks in Hindi, 44 marks in
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()30 days (b) 32 days.
(© 35 days (@40 deys 49. 4 women can finish  work it 8 days while 4
it boys can finish it in 20 days. How many days
- Primctrofa eiangeis O mand isbredh i 2 4O 0 15 by gether ke to
i 12cm Find e orths ecange ~ i
(@261 263 e e
20 @216en ONenisaay i
(€) None of these

50, Sum of 25% and 15% of a number i 144, Find
459

nsistenily runs 160 meter ceveryday, ofthat number.

How many ilomete wil he run in 4 week 3
@336 km. (5445 km a9 R
(©) 6.02 km, @5.12km. i

(€) None of these: (€) None of these.
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